
(1)AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : X

Time / a]Ì̂  : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX

1. UID stands for :
UID ãÌ̂  ×Eõ aÇ$JôçÌ̂  ?
UID ×Eõ [ýÇMõçÌ̂  ?

a) Union of Indian Districts b) Unidentified Indians
\öç»Tö» ×L_ç a]Éc÷» a]×rô %×$JôXçNþ \öç»TöÝÌ̂
\öçÌ[ýãTöÌ[ý ×L_ç a]Éãc÷Ì[ý a]×rô %×»JôXçNþ \öçÌ[ýTöÝÌ̂

c) Unique Identification d) University of Delhi
×[ýã`b Y×»$JôÌ^ Yy +=×X\öç»×$Jô×Oô %¾ åQö_c÷Ý
×[ýã`b Y×Ì[ý»JôÌ^ Yy ×V{Ý ×[ý`Ÿ×[ýVîç_Ì̂

2. Electronic Voting Machines (EVMs) were used in India for the first time in :
åEõçX YÒãV`» ×X[ýïç$JôXTö åYçX YÒUã] +ã_k˜ô×XEõ å\öç×Oôe å]×$JôX [ýî¾c÷ç» éc÷×$K÷_ ?
åEõçX YÒãVã`Ì[ý ×X[ýïç»JôãX a[ýï YÒU] +ã_kỗ×XEõ å\öç×Oôe å]×`X [ýî[ýc÷çÌ[ý c÷ãÌ^×»K÷_ ?

a) U.P b) Karnataka c) Kerala d) Gujarat
=wø» YÒãV` EõSïçOôEõ åEõ»ç_ç mL»çOô
=wøÌ[ý YÒãV` EõSïçOôEõ åEõÌ[ýç_ç mLÌ[ýçOô

3. Bengali film 'Antaheen' was chosen the Best Feature Film in -
[ýçe_ç $K÷×[ý "%Ü™öc÷ÝX'Eõ åEõçX $Jô_×¬K÷y ]ãc÷çda¾Tö æ`Òœö $K÷×[ý» YÇ»•õç» ×VÌ̂ ç éc÷×$K÷_ ?
[ýçe_ç »K÷çÌ̂ ç»K÷×[ý "%Ü™öc÷ÝX' åEõ åEõçX »Jô_×¬Jôy ]ãc÷çdaã[ý æ`Òœö »K÷×[ýÌ[ý YÇÌ[ý•õçÌ[ý åVCÌ̂ ç c÷Ì̂  ?

a) 56th National Film Awards for 2008 in New Delhi
2008 » 56 Tö] »çrÑôÝÌ̂  ×Zõ_½ [ýgOôç, XTÇöX ×V{ÝTö
2008 aãXÌ[ý 56 Tö] Ì[ýçrÑôÝÌ̂  ×Zõ_½ YÇÌ[ý•õçÌ[ý XTÇöX ×V{ÝãTö

b) 41st International Film Festival of India 2010 in Panaji
%çÜ™öLÛç×TöEõ YçXçLÝ ×Zõ_½ ]ãc÷çda¾ 2010 Tö
%çÜ™öLÛç×TöEõ »Jô_×¬Jôy ]ãc÷çda[ý 2010 YçXçLÝãTö

c) 40th kolkata Film fare 2009 d) None of the above
40 Tö] Eõ'_EõçTöç» 2009 ×Zõ_½ åZõÌ̂ ç»Tö CY»» AOôçC Xc÷Ì̂
40 Tö] Eõ_EõçTöç »Jô_×¬Jôy å]_ç, 2009 =YãÌ[ýÌ[ý AEõ×OôC XÌ̂
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4. The 16th SAARC  SUMMIT was held in 2010 at-
2010 Tö $JôçEïõ ̀ Ýbï a×¶ö‚_X Eõ'Tö %XÇ×œöTö éc÷×$K÷_ ?
2010 aãXÌ[ý açEïõ ̀ Ýbï aã¶ö‚_X åEõçUçÌ̂  %XÇ×œöTö c÷Ì̂  ?

a) Katmandu b) Thimpu c) Islamabad d) Dhaka
EõçPö]ç‰Çø ×U¶YÇ +$K÷_ç]ç[ýçV/ +a_ç]ç[ýçV RôçEõç

5. How many Rajya Sabha Seats are there in Assam ?
%a]Tö ]ÇPö »çLî a\öç» %çaX» aeFîç ×Eõ]çX ?
%çaçã] Ì[ýçLîa\öçÌ[ý å]çOô %çaX aeFîç EõTö ?

a) 126 b) 7 c) 10 d) 14

6. The first state of India where the Chief Minister was elected by lottery :-
\öç»Tö» åEõçX »çLîTö  YÒU][ýç»» [ýçã[ý ]ÇFî]Ü—öÝ _Oôç»Ý å^çãG ×X[ýïç×$JôTö Eõ»ç éc÷×$K÷_ ?
\öçÌ[ýãTöÌ[ý åEõçX Ì[ýçãLî YÒU][ýçãÌ[ýÌ[ý ]Tö ]ÇFî]Ü—öÝ ×X[ýïç×»JôTö EõÌ[ýç c÷Ì̂  _OôçÌ[ýÝÌ[ý ]çWýîã] ?

a) Maharashtra b) Madhya Pradesh c) Meghalaya d) Mizoram
]c÷ç»çrÑô / ]c÷çÌ[ýçrÑô ]Wýî YÒãV` å]Hç_Ì̂ ×]ãLç»ç] / ×]ãLçÌ[ýç]

7. The new symbol of Indian rupee ®ú has been designed by -
\öç»TöÝÌ̂  ]ÇVÐç» ®ú YÒTöÝEõ ×$Jôc÷Ô» X]ÇXç åEõçãX éTöÌ̂ ç» Eõ×»×$K÷_ ?
\öçÌ[ýTöÝÌ̂  ]ÇVÐçÌ[ý ®ú YÒTöÝEõ ×»Jôäc÷ÔÌ[ý X]ÇXç åEõ éTöÌ[ýÝ EõãÌ[ýX ?

a) R. Ashok Kumar b) D. Uday Kumar c) P. Rabindra Kumar d) None of the above
%ç» %ã`çEõ EÇõ]ç» ×Qö =VÌ̂  EÇõ]ç» ×Y »[ýÝ³VÐ EÇõ]ç» CY»» AOôçC Xc÷Ì̂
%çÌ[ý %ã`çEõ EÇõ]çÌ[ý ×Qö =VÌ̂ EÇõ]çÌ[ý ×Y Ì[ý[ýÝ³VÐ EÇõ]çÌ[ý AEõ×OôC XÌ^

8. The bathing soap Dove, Liril, Lifebuoy, and Pears are the product of ............
Gç åWýç¾ç $Jôçã[ýçX ãQöç\ö, ×_×»_, _ç+Zõ[ýÌ̂ , %ç»Ó ×YÌ̂ ç$JôÛ Eõç» =dYç×VTö aç]GÐÝ ?
ØoöçX EõÌ[ýçÌ[ý aç[ýçX åQöç\Ëö, ×_×Ì[ý_, _ç+Zõ[ýÌ̂  A[ýe ×YÌ̂ çaï EõçÌ[ý =dYç×VTö aç]GÐÝ ?

a) Marico Company b) Hindustan Unilever c) Godrej d) Procter and Gamble
å]×»ãEõç åEõç¶YçXÝ ×c÷³VÇØ™öçX +=×X×_\öç» GVã»L YÒkôç» A‰ø åG¶‘ö_
å]×Ì[ýãEõç åEõç¶YçXÝ ×c÷³VÇØ™öçX +=×X×_\öçÌ[ý GVãÌ[ýL YÒkôçÌ[ý A‰ø åG¶‘ö_

9. Which Indian city was known as Pragjyotisha or "The city of Astrology" in ancient time ?
YÒç$JôÝX \öç»Tö» åEõçX XG»Eõ YÒçGãLîç×Töb [ýç åLîç×Töb XG»Ý [ýÇ×_ åEõç¾ç éc÷×$K÷_ ?
YÒç»JôÝX \öçÌ[ýãTöÌ[ý åEõçX XGÌ[ýãEõ "YÒçGãLîç×Töb' [ýç åLîç×TöbXGÌ[ýÝ [ý_ç c÷+Tö ?

a) Jaipur b) Guwahati c) Bhubaneswar d) Cuttack
LÌ^YÇ» m¾çc÷çOôÝ \Çö[ýãX`Ÿ» EõOôEõ
LÌ^YÇÌ[ý mÌ^çc÷çOôÝ \Çö[ýãX Ÿ̀Ì[ý EõOôEõ
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10. Who can seek information under the RTI Act 2005 ?
RTI %ç+X 2005 %XÇ̂ çÌ̂ Ý åEõçãX TöUî» [ýçã[ý %çã[ýVX Eõ×»[ý Yçã» ?
RTI %ç+X 2005 %XÇ̂ çÌ̂ Ý TöãUîÌ[ý LXî åEõ %çã[ýVX Eõ×Ì[ýãTö YçãÌ[ý ?

a) A group of person b) Individual citizen c) A registered companyd) An association/society
[ýî×Nþ a]×rô [ýîç×NþGTö XçG×»Eõ A×Oô YtÝEÊõTö åEõç¶YçXÝ A×Oô  aeØšöç
[ýî×Nþ a]×rô [ýîç×NþGTö XçG×Ì[ýEõ AEõ×Oô YtÝEÊõTö åEõç¶YçXÝ AEõ×Oô aeØšöç

11. According to the Census 2011 the sex ratio (females per thousand males) in India is :
2011 JôX» å_çEõ×YÌ̂ _ %XÇa×» \öç»TöTö ×_† %XÇYçTö (]×c÷_ç YÒ×Tö c÷çLç» YÇ»Ób» ×[ýY»ÝãTö) c÷'_ f
2011 aãXÌ[ý å_çEõGSXç ]ãTö, \öçÌ[ýãTö ×_† %XÇYçTö (]×c÷_ç YÒ×Tö c÷çLçÌ[ý YÇÌ[ýÓãb) c÷+_  f

a) 900 b) 1058 c) 933 d) 946

12. If you are working and living at Delhi, can you be a voter in your native village ?
^×V %çYÇ×X ×V{Ý» ×X[ýçaÝ %ç»Ó TöçãTö Eõ]ï»Tö åTöãÜ™ö %çãYçXç» ×XL GçCgTö å\öçOôç» c÷'[ý Yç×»[ýãX ?
^×V %çY×X ×V{ÝÌ[ý [ýç×a³Vç A[ýe åaFçãX Eõ]ïÌ[ýTö, Töã[ý %çY×X %çYXçÌ[ý ×XãLÌ[ý GÐçã]Ì[ý å\öçOôçÌ[ý c÷ãTö YçÌ[ýã[ýX ?

a) Yes, you can b) No, you can't c)  In both place you can d) Only in your living place you can
c÷Ì^, %çYÇ×X Yç×»[ý Xc÷Ì̂ , åXç¾çã»     VÇãÌ̂ ç Pöç+ãTö Yç×»[ý åEõ¾_ [ýa[ýça Eõ»ç Pöç+ãTö Yç×»[ý*
cg÷îç,  %çY×X YçÌ[ýã[ýX Xç, %çY×X YçÌ[ýã[ýX Xç     VÇ+×Oô ØšöçãX+ YçÌ[ýã[ýX £WýÇ ×XãLÌ[ý [ýa[ýça EõÌ[ýç ØšöçãX YçÌ[ýã[ýX

13. Which of the following batsmen has hit the maximum number of sixes in an ODI Cricket Match ?
A×VXÝÌ̂ ç %çÜ™öLÛç×TöEõ ×yÔãEõOôTö Tö_» åEõçXLX å[ýOôJËôã]ãX a[ýïç×WýEõ aeFîEõ K÷Ì̂  åEõç[ýçÌ̂  ?
XÝä»JôÌ[ý åEõçX åFã_çÌ^çQÍö AEõ×VãXÌ[ý ×yÔãEõOô]îçä»Jô a[ýïç×WýEõ aeFîEõ »K÷Ì̂  ]çãÌ[ýX ?

a) S.R. Watson b) X.M. Marshall c) S.T. Jaysurya d) M.S. Dhoni
AK÷ %ç» CÌ̂ çOôK÷X Aj A] ]çã`ï_ AK÷ ×Oô LÌ̂ aÉ̂ ïî A] AK÷ åWýçXÝ
AK÷ %çÌ[ý CÌ̂ çOôaX Aj A] ]ç`ïç_ Aa ×Oô LÌ^aÉ̂ ïî A] Aa åWýçXÝ

14. Under which Act, the Election Commission of India Conducts the Election ?
åEõçX %ç+X» %WýÝXTö \öç»TöÝÌ̂  ×X[ýïç$JôXÝ %çãÌ̂ çãG ×X[ýïç$JôX Y×»$Jôç_Xç Eõã» ?
\öçÌ[ýTöÝÌ̂  ×X[ýïç»JôXÝ %çãÌ̂ çG åEõçX %ç+ãXÌ[ý %WýÝãX ×X[ýïç»JôX Y×Ì[ý»Jôç_Xç EõãÌ[ýX ?

a) Peoples Representation Act of India b) Peoples Regulation Act of India
×YYÇ_$Jô ×»äYÒä$JôXäOô`ŸX Akô %¾ +×‰øÌ^ç ×YYÇ_$Jô å»mã_$JôX Akô %¾ +×‰øÌ̂ ç
×YY_a ×Ì[ýäYÒãLXäOô`X Akô %[ý +×‰øÌ̂ ç ×YY_a åÌ[ýmã_`X Akô %[ý +×³QöÌ̂ ç

c) Indians Peoples Representative Act d) Indian Peoples Representative Act
+×‰øÌ̂ çX$Jô ×YYÇ_$Jô ×»äYÒãLXäOô×Oô\ö Akô +×‰øÌ^çX ×YYÇ_$JËô ×»äYÒãLXäOô×Oô\ö Akô
+×³QöÌ̂ çXa ×YY_a ×Ì[ýäYÒãLXäOô×Oô\ö Akô +×‰øÌ^çX ×YYÇ_$JËô ×Ì[ýäYÒãLXäOô×Oô\ö Akô
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15. Where is the IPL (Indian Premier Leauge) Head Quarters located ?
IPL +×‰øÌ̂ çX ×YÒ×]Ì̂ ç» _ÝG» ]ÇFî Eõç^ïîç_Ì̂  Eõ'Tö %¾×ØšöTö ?
IPL (+×³QöÌ^çX ×YÒ×]Ì̂ çÌ[ý _ÝãGÌ[ý) ]ÇFî Eõç^ïç_Ì̂  åEõçUçÌ̂  %[ý×ØšöTö ?

a) New Delhi b) Mumbai c) Kolkata d) Hyderabad
XTÇöX ×V{ÝTö ]Ç¶‘öç+Tö Eõ_EõçTöç c÷çÌ̂ V»ç[ýçV
XTÇöX ×V{Ý ]Ç¶‘öç+ Eõ_EõçTöç c÷çÌ̂ VÐç[ýçV

16. 'Vanar Sena' which participated in freedom struggle of India was led by -
\öç»Tö» Ø‘öçWýÝXTöç aeGÐç]Tö %e` å_ç¾ç "[ýçX» åaXç'» åXTÊö±¼ö åEõçãX ×V×$K÷_ ?
\öçÌ[ýãTöÌ[ý Ø‘öçWýÝXTöç aeGÐçã] å^çGVçX EõÌ[ýç "[ýçXÌ[ý åaXçÌ[ý' åXTöç ×»K÷ã_X -

a) Sarojini Naidu b) Indira Gandhi c) Vijoy Lakshmi Pandit d) Annie Besant
aã»ç×LXÝ Xç+QÇö +×³V»ç GçµùÝ ×[ýLÌ̂  _©¿Ý Y×‰øTö A×X å[ý$JôçÜ™ö
aãÌ[ýç×LXÝ Xç+QÇö +×³VÌ[ýç GçµùÝ ×[ýLÌ̂  _©¿Ý Y×‰øTö A×X å[ýaçÜ™ö

17. Gandhiji was referred to as "Mahatma" first by whom ?
GçµùÝLÝEõ YÒUã] åEõçãX "]c÷ç±Áç' Xç] ×V×$K÷_ ?
åEõ YÒU] GçµùÝ×LãEõ "]c÷ç±Áç' Xçã] aã¶‘öçWýX  EõãÌ[ýX ?

a) Subhas Ch. Bose b) Rabindra Nath Tagore c)     Mohd. Iqbal d) Abul Kalam Azad
aÇ\öçb $Jô³VÐ [ýaÇ »[ýÝ³VÐ XçU PöçEÇõ»/Ì[ý[ýÝ³VÐXçU PöçEÇõÌ[ý        ]c÷¶ö‚V +Eõ[ýç_ %ç[ýÇ_ Eõç_ç] %çLçV

18. The storage device that has high cost per bit of storage is :
YÒ×TöäOôç ×[ýOËô a‡ûÌ̂  Eõ»ç» [ýçã[ý =¬Jô V» [ýc÷X Eõ×»[ý_GÝÌ̂ ç a‡ûÌ̂ » %ç×c÷_ç×[ýWý c÷'_ -
YÒ×Tö×Oô ×[ýOËô a‡ûÌ̂  EõÌ[ýçÌ[ý LXî =¬Jô VÌ[ý [ýc÷X EõÌ[ýç a‡ûãÌ̂ Ì[ý aÌ[ýtç] c÷+_ -

a) SDRAM b) Cache Memory c) ROM d) Hard Disk
A$Jô ×Qö å»] åEõ$JËô å]]'×» »'] c÷çQïö ×Qö$JËôEõ
Aa ×Qö åÌ[ý] åEõ»a å]]'×Ì[ý Ì[ý'] c÷çQïö ×Qö•õ

19. When did Women first participate in the Olympic Games ?
×Eõ]çX $JôXTö YÒUã] ]×c÷_ç+ %×_×¶YEõTö %e` é_×$K÷_ ?
åEõçX aãX ]×c÷_ç YÒU][ýçãÌ[ýÌ[ý ]ãTöç %×_×¶YãEõ %e` åXÌ̂  ?

a) 1896 b) 1900 c) 1912 d) 1932

20. Which dance form is also known as 'Dasi Nattam' ?
åEõçX XÊTöîEõ VçaÝ XçOôî] [ýÇ×_C åEõç¾ç c÷Ì̂  ?
åEõçX XÊTöîãEõ "VçaÝ XçOôî]' [ýã_ C LçXç ̂ çÌ̂  ?

a) Kathakali b) Bharat Nattyam c) Mohini attam d) Odissi
EõUçEõ×_ \öç»Tö XçOôî]/\öçÌ[ýTö XçOôî] å]ç×c÷XÝ %çOôî] C×Qö×$K÷/ C×Qö×a
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21. Which Sanskrit term meaning "assembly" refers to an important unit of self-government in Hindu society ?
ae•ÊõTö \öçbç» åEõçXäOôç ̀ Œ+ ×c÷³VÇ a]çL» Ø‘öçÌ̂ ±¼ö`çaX [ýî¾Øšöç» A×Oô åGçOô [ýÇLçÌ̂  ?
ae•ÊõTö \öçbçÌ[ý åEõçX ̀ Œ×Oô ×c÷³VÇ a]çãLÌ[ý Ø‘öçÌ̂ ±¼ö`çaX [ýî[ýØšöçÌ[ý AEõ×Oô mÌ[ýÓ±¼öYÉSï AEõEõãEõ [ýÇMõçÌ̂  ?

a) Sabha b) Panchayat c) Sangha d) Baithak
a\öç Y‡ûçÌ̂ Tö aeH é[ýPöEõ

22. What is the full form of GDP ?
GDP » YÉSï »ÖY ×Eõ ?
"×L ×Qö ×Y' AÌ[ý a¶YÉXï Ì[ýÖY ×Eõ ?

a) Gross Domestic Product b) Gross Development Product
]ÇPö H»Ó¾ç =dYçVX ]ÇPö =~Ì̂ X =dYçVX
å]çOô HãÌ[ýçÌ̂ ç =dYçVX å]çOô =~Ì̂ X =dYçVX

c) Government Direct Product d) Government Development Product
$Jô»Eõç»Ý YÒTöîlù =dYçVX $Jô»Eõç»Ý =~Ì̂ S =dYçVX
aÌ[ýEõçÌ[ýÝ YÒTöîlù =dYçVX aÌ[ýEõçÌ[ýÝ =~Ì̂ S =dYçVX

23. A Cricket player from Assam is playing in the IPL tournament for Mumbai Indians. What is his name ?
IPL OÇôSïçã]³OôTö ]Ç¶‘öç+ +×‰øÌ̂ çX$Jô» éc÷ åF_ç %a]» åF_Çê¾ LX» Xç] ×Eõ ?
IPL OÇôSïçã]ä³Oô ]Ç¶‘öç+ +×³QöÌ̂ çXãa %aã]Ì[ý åFã_çÌ̂ çQÍö c÷+_ -

a) Shubham purkayastha b) Pritam chakraborty c) Abu Nechim d) Amal Mazumdar
£\ö] YÇ»EõçÌ̂ Øšö YÒÝTö] $JôyÔ¾wøÞ %ç[ýÇ åX×$K÷] %]_ ]LÇ]Vç»
£\ö] YÇÌ[ýEõçÌ̂ Øšö YÒÝTö] »JôyÔ[ýTöÞ %ç[ýÇ åX×a] %]_ ]LÇ]VçÌ[ý

24. Which of these is India's only Corel Island ?
Tö_» åEõçXäOôç AEõ]çy \öç»TöÝÌ̂  YÒ[ýç_ ¥ÝY ?
XÝä»JôÌ[ý åEõçX×Oô \öçÌ[ýãTöÌ[ý AEõ]çy YÒ[ýç_ ¥ÝY ?

a) Land fall b) Lakshadweep c) Majuli d) Car Nicobar
å_‰øZõ_ _çlùç¥ÝY ]çLÇ_Ý Eõç» ×XãEõç[ý» / EõçÌ[ý ×XãEõç[ýÌ[ý

25. Where did the concept of democracy originate ?
Eõ'Tö YÒUã] GSTöÜ—ö» Wýç»Sç» LX½ éc÷×$K÷_ ?
×[ýã`ŸÌ[ý åEõçUçÌ̂  "GXTöãÜ—öÌ[ý' WýçÌ[ýXçÌ[ý LX½ c÷Ì̂  ?

a) Greece b) England c) USA d) France
GÐÝ$JôTö +eã_‰øTö %çã]×»EõçTö ZÐõç‡ûTö
GÐÝ»a +eã_‰ø %çã]×Ì[ýEõç ZÐõç³a
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General English

26. Identify the sentence that is  incorrect.

a) Honour and glory are his reward. b) Gold and silver are precious metals
c) The horse and carriage is at the door d) Time and tide waits for none.

Fill up the blanks with the appropriate choice given in the options.

27. What     -----------------   needed  are not large houses  but small cottages.

a) is b) are c) has d) should

28. No one  ----------------  about me.

a) shall worry b) will worry c) needs to worry d) need worry

29. If you drink too much, it will  ------------ your judgement.

a) impede b) impair c) impose d) impel

30. There is no glory in war ---------- the blood it ------------  .

a) considering, sheds b) comparing, spills c) worth, costs d) thinking, demands

Pick out the part that can complete the sentence.

31. He seized control of the country  ……………..  .

a) by diplomacy and being forceful. b) by using diplomacy and force
c) by being a diplomat and forceful.. d) not only because of diplomacy but force

32. I shall not be late for dinner  …………….  .

a) if the train is late b) unless the train will not be late
c) unless the train will be late d) unless the train is late

33. This building comprises   …………..  twenty rooms.

a) of b) with c) in d) None of these

34. We are  …………….  to have him …………..   here to make this function a grand success.

a) sure, come b) happy, arrive c) pleased, over d) proud , leave

35. The  friends quarreled as they found each other …… of ……… breach  of promise.

a) responsible, serious b) faulty,  severe c) accused, mean d) guilty , flagrant
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36. The  -----------  words of the mother  comforted the  …………..  child

a) soothing, disappointed   b) harsh, naughty. c) sweet, happy d) soft, energetic

37.  The sentence given here in Active Voice will be changed to which of the following inPassive Voice ?
"I know him . "

a) He is known by me b) I am known by him c) He is known to me. d) He  is known for  me.

Choose the word nearest in meaning to the word in italics

38 The chairman conducted the meeting with aplomb.

a) Arrogance b) annoyance c) poise d) authority

39. The eyewitness testimony was incontrovertible.

a) Debatable b) unquestionable c) unacceptable d) disputable

Choose the word that is opposite in meaning to the word in italics

40 He appears to be a phoney person

a) Duplicate b) genuine c) dishonest d) talkative

Some parts of each of the following sentences, have been jumbled up. You are required to choose the correct sequence
to rearrange these parts which are underlined and labeled P, Q, R, S  so as to produce the correct sentence.

41. In fact   how bank     market their services     high number of bank accounts per person has more to do with.
            P Q                 R      S

The correct sequence  should be :

a) RPSQ b) QSPR c) RSPQ d) QPSR

42. The government has assured the people that in the Kargil operation who have sacrificed their lives
         P               Q

will be properly looked after the families of all those soldiers.
               R                  S

The proper sequence should be :

a) PSRQ b) SQPR c) SRQP d) SPRQ
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Pick out the correct meaning of the following idioms in bold italics.

43. The professor said to the student, "My hands are full. ". The student felt let down..

a) I am having a lot of things to carry b) I am helpless
c)  I am anxious d) I am very busy

44. The stern looking Mathematics teacher has left our school. I'd say ,it's a good riddance.

a) I am happy. We have got rid of a disagreeable person.      b)   I am sorry , he was a very good teacher.
c) The students will miss him very much      d)   It will be very much resented by the students.

In the following sentences six parts are given. The position of sentence 1 and 6 are fixed. The rest of the parts are
numbered as P , Q , R , S which are jumbled.  Arrange these four parts in a meaningful sequence marking the correct
order of arrangement.

45. 1. He tried the door.

P. the room was neat and clean
Q then he stepped in to the room.
R. he waited for a minute or two.
S. it opened easily and he peeped in.
6. he was careful not to touch anything.

a) PQRS b) QSPR c) RPQS d) SPRQ

46. 1. Hobbies can fill our spare.

P. physical fatigue, and
Q. moments with enjoyment.
R. and pleasure , they also relieve
S. mental tiredness and
6. do not hinder our regular work.

a) RQPS b) QRSP c) SQPR D) PQSR

47. Which word does NOT belong with the others?

a) dodge b) flee c) duck d) avoid

48. Choose the pair that best represents a similar relationship to the one expressed inthe original pair of words.

ELEPHANT : PACHYDERM

a) mantis : rodent b) poodle : feline c) kangaroo : marsupial d) zebra : horse

49. 'Fire' is related to 'Ashes' in the same way as 'Explosion' is related to :

a) sound b) flame c) explosive d) debris
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50. Here are some words translated from an artificial language.
tamceno  means sky blue
cenorax  means blue cheese
aplmitl  means star bright

Which word could mean "bright sky"?

a) cenotam b) mitltam c) raxmit d) aplceno

General Mathematics / açWýç»S G×STö / açWýçÌ[ýX G×STö

51. The set of all irrational numbers is closed for ..............
aEõã_ç %Y×»ã]Ì̂  aeFîç» aec÷×Tö ............... YÒ×yÔÌ̂ ç açãYãlù %ç[ýˆù*
aEõ_ %Y×Ì[ýã]Ì̂  aeFîçÌ[ý aec÷×Tö ................. YÒ×yÔÌ̂ ç açãYãlù %ç[ýˆù*

a) Addition b) Multiplication c) Division d) None of these
å^çG YÉ»S c÷»S AOôçC Xc÷Ì^
å^çG YÉÌ[ýS c÷Ì[ýS AEõ×OôC XÌ^

52. The additive inverse of 3x - 4+  is ..............

3x - 4+  » å^çGç±ÁEõ ×[ýY»ÝTö aeFîçäOôç ..................

3x - 4+  AÌ[ý å^çGç±ÁEõ ×[ýYÌ[ýÝTö aeFîç×Oô -

a) b) - 3x + 4 - c) - 3x + 4 + d)  - 3x + 4 - x
1-2x

53. If P = X +Y

(x-y)  + 3xy

3

2

3

,  Q = 
(x+y) -3xy

x  - y

2

3 3
 and R = 

xy

x  - y22
 then the value of (P÷Q) X R is  ..................

^×V P = X +Y

(x-y)  + 3xy

3

2

3

,  Q = 
(x+y) -3xy

x  - y

2

3 3
  %ç»Ó / A[ýe R = 

xy

x  - y22
 c÷Ì̂ , åTöãÜ™ö / Töã[ý (P÷Q) X R » / AÌ[ý ]çX ..............

a) x+y b) xy c) x-y d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

54. For what value of k, the system of equation kx-y=2, 6x-2y=3 has infinitely many solutions ?
'k' » ×Eõ ]çX» [ýçã[ý kx-y=2, 6x-2y=3 a]ÝEõ»S YÒSç_Ý» %aeFîç a]çWýçX Uç×Eõ[ý ?
'k' AÌ[ý ×Eõ ]çãXÌ[ý LXî kx-y=2, 6x-2y=3 a]ÝEõÌ[ýX YÒSç_ÝãTö %aeFî a]çWýçX Uç×Eõã[ý ?

a) k = 3 b) k  4 c) k = 6 d) does not exist
åEõçãXç ]çX Xç+/ åEõçX ]çX Xç+
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55. If  X
b

= y
a , bx+ay = a2+b2, then the value of (x,y) are .............

^×V X
b

= y
a , bx+ay = a2+b2, c÷Ì̂ , åTöãÜ™ö/ Töã[ý (x,y) »/ AÌ[ý ]çX ..............

a) (a,b) b) (a, - b) c) (b, - a) d) (b,a)

56. If a = b = c, then the roots of the equation (x-a)(x-b)+(x-b)(x-c)+(x-c)(x-a) = 0 are ...........
^×V a = b = c c÷Ì̂ , åTöãÜ™ö (x-a)(x-b)+(x-b)(x-c)+(x-c)(x-a) = 0  a]ÝEõ»S» ]É_ã[ýç» ...............
^×V a = b = c c÷Ì̂ , Töã[ý (x-a)(x-b)+(x-b)(x-c)+(x-c)(x-a) = 0 a]ÝEõÌ[ýãSÌ[ý ]É_m×_ ...................

a) real and unequal b) imaginary c) real and equal d) None of these
Y×»ã]Ì̂  %ç»Ó %a]çX Eõç”×XEõ Y×»ã]Ì̂  %ç»Ó a]çX AOôçC Xc÷Ì^
Y×Ì[ýã]Ì̂  A[ýe %a]çX Eõç”×XEõ Y×Ì[ýã]Ì̂  A[ýe a]çX AEõ×OôC XÌ^

57. The roots of the equation X
2

2 +bx+c  = 0 are integers, if ..............

X2

2 +bx+c  = 0 a]ÝEõ»S» ]É_ã[ýç»  %F‰ø aeFîç c÷[ý ^×V ................

X2

2 +bx+c  = 0 a]ÝEõÌ[ýãXÌ[ý ]É_m×_ %F‰ø aeFîç c÷+ã[ý ^×V ...................

a) b2-2c0 b) b2-2c is the square of an integer and b is an integer
b2-2c AOôç %F‰ø aeFîç» [ýGï %ç»Ó b AOôç %F‰ø aeFîç c÷Ì̂
b2-2c AEõ×Oô %F‰ø aeFîçÌ[ý [ýGï A[ýe b AEõ×Oô %F‰ø aeFîç c÷Ì̂

c) b and c are integers d) b and c are even integers.
b %ç»Ó c %F‰ø aeFîç c÷Ì̂ b %ç»Ó c ^ÇG½ %F‰ø aeFîç c÷Ì̂
b A[ýe c %F³Qö aeFîç c÷Ì̂ b A[ýe c ̂ ÇG½ %F³Qö aeFîç c÷Ì̂

58. Which of the following statements is not true ?
Tö_» åEõçXäOôç =×Nþ aTöî Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî XÌ̂  ?

a) Any two right triangles are  similar b) A square is similar to a rectangle
×^ åEõçãXç VÇOôç a]ãEõçSÝ ×Åy\ÉöL aVỀ  c÷Ì̂ [ýGï ålùy %ç»Ó %çÌ̂ Töãlùy aVỀ
å^ åEõçX VÇ+×Oô a]ãEõçSÝ ×Åy\ÉöL aVỀ  c÷Ì̂ [ýGïãlùy A[ýe %çÌ̂ Töãlùy aVỀ

c) Any two rectangles are  similar d) None of the above
×^ãEõçãXç VÇOôç %çÌ̂ Töãlùy aVỀ CY»» AOôçC Xc÷Ì̂
å^ åEõçãXç VÇ+×Oô %çÌ̂ Töãlùy aVỀ AEõ×OôC XÌ^

59. In a quadrilateral ABCD, AD= BC. If P,Q,R,S are mid points of AB, AC, CD and BD respectively then ................
^×V ABCD $JôTÇö\ÉöÛL» AD= BC %ç»Ó P,Q,R,S yÔã] AB, AC, CD  %ç»Ó BD  » ]Wýî ×[ý³VÇ c÷Ì̂ , ãTöãÜ™ö ...................
^×V ABCD »JôTÇö\ÇöÛãLÌ[ý AD= BC A[ýe P,Q,R,S yÔã] AB, AC, CD A[ýe BD AÌ[ý ]Wýî×[ý³VÇ c÷Ì̂ , Töã[ý ..................

a) PQRS is a rhombus b) PQRS  is a square c) PQRS is a rectangle d) None of these
PQRS AOôç »¶‘öç$K÷ PQRS AOôç [ýGï PQRS AOôç %çÌ̂ Töãlùy AOôçC Xc÷Ì^
PQRS AEõ×Oô Ì[ý¶‘öça PQRS AEõ×Oô [ýGï PQRS AEõ×Oô %çÌ̂ Töãlùy AEõ×OôC XÌ^
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60. If Sin + Cosec = 2 then Sinn + Cosecn  = ...............

^×V Sin + Cosec = 2  c÷Ì̂ , åTöãÜ™ö Sinn + Cosecn  = ...............
^×V Sin + Cosec = 2  c÷Ì̂ , Töã[ý Sinn + Cosecn  = ...............

a) n (Sin+Cosec b) 2 c)   d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

61. A ladder of 20 m long touches the wall at height of 10 m.  The angle made by it with horizontal is ...............
20 ×]Oôç» CF LF_ç AOôç+ åV¾ç_ AFXEõ 10 ×]Oôç» =¬JôTöçTö &`ï Eõ×»ã_ LF_çäOôç %XÇ\Éö×]Eõ» _GTö ................ =dY~ Eõ×»[ý*
20 ×]OôçÌ[ý =¬JôTöçÌ[ý AEõ×Oô ]+ åVCÌ̂ ç_×OôãEõ 10 ×]. =¬JôTöçÌ̂  &`ï Eõ×Ì[ýã_ ]+×Oô %XÇ\Éö×]ãEõÌ[ý açãU ............... =dY~ Eõ×Ì[ýã[ý*

a) 300 b) 600 c) 450 d) None / AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

62. In the figure angle B is obtuse. Then AC2 = ..........

Eõçb» ×$JôyTö B åEõçSäOôç ØšöÉ_ åEõçS c÷ã_ AC2 = ..............

A

D B C

Yçã`Ì[ý ×»Jôäy B åEõçS×Oô ØšöÉ_ åEõçS c÷+ã_ AC2 = ..............

a) AB2+BC2 -2BC.BD b) AB2+BC2 c) AB2+BC2+2BC.BD d) AD2+BD2

63. A wire bent in the form of a circle of radius 42 cm is cut and again bent in the form of a square. The ratio of the regions
enclosed by the circle and the square in the two cases is given by ............

AQöç_ Tgöç»Eõ å[ýgEõç Eõ×» [ýÊwø %çEõçã» GRÍô ×VÌ̂ çTö +Ì̂ ç» [ýîçaçWýï 42 æ$K÷f ×]f c÷Ì̂ * Tgöç» Qöç_Eõ %çãEõì Eõç×Oô åY_ç+ å[ýgEõç Eõ×» AOôç [ýGï» GRÍô ×VÌ̂ ç c÷Ì̂ *
=\öÌ̂  ålùyTö [ýÊwø %ç»Ó [ýGï+ %çm»ç Pöç+» %XÇYçTö c÷[ý ..............

AEõ×Oô TöçÌ[ýãEõ [ýgçEõç Eõ×Ì[ýã_ +c÷çÌ[ý [ýîçaçWýï 42 åa. ×]. c÷Ì̂ * TöçÌ[ý×OôãEõ %ç[ýçÌ[ý [ýgçEõç Eõ×Ì[ýÌ̂ ç AEõ×Oô [ýãGïÌ[ý %çEõçÌ[ý ×VÌ̂ ç c÷+_* =\öÌ̂ ãlùäy [ýÊwø A[ýe [ýGï
¥çÌ[ýç %ç[ýˆù EõÌ[ýç ØšöçãXÌ[ý %XÇYçTö ......................*

a) 11:12 b) 21:33 c) 22:33 d) 14:11

64. A hollow sphere of internal and external diameters 4 cm and 8 cm respectively is melted into a cone of base diameter
8cm. Find the height of the cone ?

åZgõçãYç_ç åGç_Eõ AOôç» %Ü™öf %ç»Ó [ý×c÷f [ýîça yÔã] 4 æ$K÷f ×]f %ç»Ó 8 æ$K÷f×]f* åGç_EõäOôç G_ç+ A×Oô ̀ eEÇõ» »ÖY ×VÌ̂ çTö Töç» \ÉöTö_» [ýîça 8
æ$K÷f×]f c÷Ì̂ , åTöãÜ™ö ̀ eEÇõäOôç» =¬JôTöç ×X»ÖYS Eõ»ç ?

ZgõçYç åGç_ãEõÌ[ý %Ü™öf[ýîça A[ýe [ý×c÷f [ýîça yÔã] 4 åa. ×]. A[ýe 8 åa.×].* ̂ ×V åGç_Eõ×OôãEõ G_ç+Ì̂ ç AEõ×Oô ̀ eEÇõÌ[ý %çEÊõ×Tö ×Vã_ +c÷çÌ[ý \ÉöTöã_Ì[ý [ýîça
8 åa.×]. c÷Ì̂ , Töã[ý ̀ eEÇõ×OôÌ[ý =¬JôTöç ×XÌ[ýÓYX EõÌ[ý*

a) 14 cm b) 12 cm c) 16 cm d) None
14 æ»K÷.×]/ãa.×]. 12 æ»K÷.×]/ãa.×]. 16 æ»K÷.×]/ãa.×]. AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂
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65. The width of a rectangle in a Histogram represents ..............
Ø™ö�ö å_FTö %çÌ̂ Töãlùy» YÒØšö+ .................... ×X»ÖYS Eõã»*
×c÷äºOôçGÐçã] %çÌ̂ TöãlùäyÌ[ý YÒØšö ............... ×XÌ[ýÖYX EõãÌ[ý*

a) Mid values of the class b) Class interval c) Frequency of the class d) number of classes
æ`ÒSÝ» ]Wýî]çX æ`ÒSÝ %Ü™ö»ç_ æ`ÒSÝ» [ýç»e[ýç»Töç æ Ò̀SÝ» aeFîç
æ Ò̀XÝÌ[ý ]Wýî]çX æ`ÒXÝ %Ü™öÌ[ýç_ æ Ò̀XÝÌ[ý [ýçÌ[ýe[ýçÌ[ýTöç æ`ÒXÝÌ[ý aeFîç

66. When x5, x+ 1
x  , 1+ 2

x +  are multiplied, the product is a polynomial of degree ............

x5, x+ 1
x  , 1+ 2

x +  Eõ YÉ»S Eõ×»ã_ ×^äOôç [ý§YV »ç×` åYç¾ç ^ç[ý Töç» ]çy ............. c÷'[ý*

x5, x+ 1
x  , 1+ 2

x +  ãEõ YÉÌ[ýX Eõ×Ì[ýã_ mXZõ_ [ý§YV Ì[ýç×`Ì[ý ]çyç  ............... c÷+ã[ý*

a) 5 b) 6 c) 4 d) 3

67. The value of an article which was purchased 2 years ago, depreciates at 12% per annum. If its present value is Rs.
9680, the price at which it was purchased is ..............

VÇ[ý$K÷»» %çGãTö yÔÌ̂  Eõ»ç [ýºwø AOôç» ]É_î [ý$K÷×» 12% c÷çã» âÑ÷ça c÷Ì̂ * ̂ ×V [ýºwøäOôç» [ýTöÛ]çX» ]É_î 9680.00 OôEõç c÷Ì̂  åTöãÜ™ö [ýºwøäOôç ×Eõ]çX
Vç]Tö ×EõXç éc÷×$K÷_-

VÇ+ [ý»K÷Ì[ý  YÉã[ýï yÔÌ̂  EõÌ[ýç AEõ×Oô [ýºwøÌ[ý ]É_î [ý»K÷ãÌ[ý 12% c÷çãÌ[ý âÑ÷ça YçÌ̂ * ̂ ×V [ýºwø×OôÌ[ý [ýTöÛ]çX ]É_î 9680.00 OôçEõç c÷Ì̂ , Töã[ý [ýºwø×OôÌ[ý yÔÌ^]É_î ×»K÷_*

a) Rs. 10,000 b) Rs. 12,500 c) Rs. 14, 575 d) Rs. 16, 250
10,000 OôEõç / OôçEõç 12,500 OôEõç / OôçEõç 14,575 OôEõç / OôçEõç 16,250 OôEõç / OôçEõç

68. Two chords AB and CD of a circle cut each other when produced outside the circle at P. AD and BC are  joined. If
PAD = 300 and CPA = 450 find CBP.
AOôç [ýÊwø» AB %ç»Ó CD Lîç VÇQöç_Eõ [ýRÍôç+ ×Vã_ [ý×c÷f ×[ý³VÇ P Tö EõOôçEõ×Oô Eõã»* AD %ç»Ó BC aeã^çG Eõ»ç c÷'_* ̂ ×V PAD = 300 %ç»Ó
CPA = 450 c÷Ì̂  åTöãÜ™ö CBP » ]çX ×XSïÌ̂  Eõ»ç*
AEõ×Oô [ýÊãwøÌ[ý AB A[ýe CD Lîç VÇ×OôãEõ [ýçQÍöç+Ì̂ ç ×Vã_ [ý×c÷×[ýï³VÇ P åTö EõOôçEõ×Oô EõãÌ[ý* AD A[ýe BC aeã^çG EõÌ[ýç c÷+_* ̂ ×V PAD = 300 A[ýe
CPA = 450 c÷Ì̂ , Töã[ý CBP AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý*

A
B

C
D

P

)

450

300

a) 1050 b) 1150 c) 1350 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂
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69. 0 is the centre of the circle as shown in the diagram. The distance between P and Q is 4 cm. Then the measure of
ROQ is ...........
×$JôyTö åVFÇ¾ç [ýÊwøäOôç» åEõ³VÐ 0* ^×V P %ç»Ó Q » ]çL» VÉ»±¼ö 4 æ$K÷f ×]f c÷Ì̂  åTöãÜ™ö ROQ » ]çX .................. c÷'[ý*
×»JôyãTö åVFçãXç [ýÊwø×OôÌ[ý åEõ³VÐ 0* ̂ ×V P A[ýe Q AÌ[ý ]Wýî VÉÌ[ý±¼ö 4 åa. ×]. c÷Ì̂ , Töã[ý ROQ AÌ[ý ]çX c÷+ã[ý ................*

a) y0 b) 350 c) 1050 d) 700

70. If (^×V) 
x
a Cos + 

y
b Sin = 1, 

x
a Sin - 

y
b Cos = 1 then/åTöãÜ™ö/ Töã[ý

a) x2+y2 = a2+b2 b) +  = 2 c) a2x2 + b2y2 = 1 d) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

71. If the difference between SI and CI on a certain sum of money for 3 years at 10% p.a is Rs. 15.50. The sum is ...........
^×V åEõçãXç ×X×VÛrô ]É_WýX» 10% c÷çã» 3 [ý$K÷»» a»_ aÇTö %ç»Ó ×]`Ò aÉTö» YçUïEõî 15.50 OôEõç c÷'å_ ]É_WýX .................. c÷'[ý*
^×V åEõçãXç ×X×�Ûrô ]É_WýãXÌ[ý [ý»K÷ãÌ[ý 10% c÷çãÌ[ý 3 [ý»K÷ãÌ[ýÌ[ý aÌ[ý_ aÇV A[ýe ×]`Ò aÇãVÌ[ý YçUïEõî 15.50 OôçEõç c÷Ì̂ , Töã[ý ]É_WýX .............. c÷+ã[ý*

a) Rs. 1,000 b) Rs. 500 c) Rs.  1,500 d) Rs. 2,000

72. Which step in the following problem is wrong ?
Tö_Tö ×VÌ̂ ç a]aîçäOôç» åEõçXäOôç Ø™ö» \Éö_ ?
XÝä»Jô åVCÌ̂ ç a]aîçãTö åEõçX Step %£ˆù ?

a = b = 1
a = b

                       Step 1 :  a2 = ab
                       Step 2 : a2-b2 = ab - b2

                       Step 3 : (a+b)(a-b) = b(a-b)

                       Step 4 : a+b  = b(a-b)
 (a-b)

                                    a+b = b
                                    1+1 = 1

  2 = 1

a) Step 4 b) Step 3 c) Step 2 d) Step 1
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73. The cube of a number is 8 times the cube of another number. If the sum of the cubes of number is 243, the
difference of the numbers is ............
AOôç aeFîç» HX %çXäOôç aeFîç» HX» 8 mS* ̂ ×V aeFîç VÇOôç» HX» å^çGZõ_ 243 c÷Ì̂  åTöãÜ™ö aeFîç VÇOôç» %Ü™ö» ................. c÷[ý*
AEõ×Oô aeFîçÌ[ý HX %YÌ[ý aeFîç×OôÌ[ý HãXÌ[ý 8 mX* ̂ ×V aeFîç VÇ+×OôÌ[ý HãXÌ[ý å^çGZõ_ 243 c÷Ì̂ , Töã[ý aeFîç VÇ+×OôÌ[ý ]ãWýî %Ü™öÌ[ý .............. c÷+ã[ý*

a) 3 b) 4 c) 6 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

74. When the circumference of a circle decreases from, 3 to , its area decreases by ...............
AOôç [ýÊwø» Y×»aÝ]ç 3Y»ç Eõ×] c÷ã_ [ýÊwøäOôç» Eõç×_ ................. Eõ×][ý*
AEõ×Oô [ýÊãwøÌ[ý Y×Ì[ýaÝ]ç 3c÷+ãTö Eõ×]Ì̂ ç c÷+ã_ [ýÊwø×OôÌ[ý Eõç×_ ................. Eõ×]ã[ý*

a) 16 2
3

 % b) 66 2
3

 % c) 88 8
9

 % d) None of these

AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

75. Which of the following is in descending order.
Tö_» åEõçXäOôç %WýfyÔ]Tö %çä$K÷*
XÝä»JôÌ[ý åEõçX×Oô %Wýf yÔã] %çä»K÷ ?

a) 3
4

 > -2 > -11
20

 > 4
-5

b) 3
4

 > -11
20

 > -4
5

 > -2 c) 3
4

 > 4
-5

 > -2 >-11
20

d) 3
4

 > 4
-5

 > -11
20

 > -2

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýX ×[ýpûçX

76. Two plane mirrors are inclined to each other at an angle of 600. If a ray of light incident on the first mirror at an angle
of 300 is  reflected to the second mirror, it will be reflected again from the  second mirror ..............
VÇFX a]Tö_ VçãYçS 600 åEõçSTö Y»&» åc÷_XÝÌ̂ çêEõ »Fç éc÷ä$K÷* ̂ ×V A×Oô åYçc÷» »×`½ YÒU] FX VçãYçSTö 300 åEõçSTö %çY×TöTö éc÷ ×¥TöÝÌ̂
VçãYçSé_ YÒ×TöZõ×_Tö c÷Ì̂ , åTöãÜ™ö åYçc÷» »×`½ ×¥TöÝÌ̂  VçãYçS» Y»ç %çãEõì YÒ×TöZõ×_Tö c÷[ý ................

VÇ+×Oô a]Tö_ VYïSãEõ 600 åEõçãS YÌ[ý&Ì[ýãEõ &`ÞÌ̂  \öçã[ý Ì[ýçFç c÷+Ì̂ çä»K÷* ̂ ×V AEõ×Oô %çã_çEõ Ì[ý×`½ YÒU] VYïãS 300  åEõçãS %çY×TöTö c÷+Ì̂ ç ×¥TöÝÌ̂
VYïãS YÒ×TöZõ×_Tö c÷Ì̂ , Töã[ý %çã_çEõ Ì[ý×`½ ×¥TöÝÌ̂  VYïS åUãEõ %ç[ýçÌ[ý YÒ×TöZõ×_Tö c÷+ã[ý ...............

a) Perpendicular to the first mirror b) Parallel to the first mirror
YÒU] VçãYçS» _¶‘ö ×V`Tö YÒU] VçãYçS» %XÇ\Éö×]Eõ ×V`Tö
YÒU] VYïãSÌ[ý _ã¶‘öÌ[ý ×VãEõ YÒU] VYïãSÌ[ý %XÇ\Éö×]ãEõÌ[ý ×VãEõ

c) Parallel to the second mirror d) Perpendicular to the second mirror
×¥TöÝÌ̂  VçãYçS» %XÇ\Éö×]Eõ ×V`Tö ×¥TöÝÌ̂  VçãYçS» _¶‘ö ×V`Tö
×¥TöÝÌ^ VYïãSÌ[ý %XÇ\Éö×]ãEõÌ[ý ×VãEõ ×¥TöÝÌ̂  VYïãSÌ[ý _¶‘ö ×VãEõ
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77. In which of the following cases do we get very strong reflected rays and very weak refracted rays ?
Tö_» åEõçXäOôç ålùyTö %ç×] a[ý_ YÒ×TöZõ×_Tö »×`½ %ç»Ó VÇ[ýï_ YÒ×Töa×»Tö »×`½ Yç] ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý ålùäy %ç]Ì[ýç a[ý_ YÒ×TöZõ×_Tö Ì[ý×`½ A[ýe VÇ[ýï_ YÒ×Töa×Ì[ýTö Ì[ý×`½ Yç+ ?

a) Light passing from air to glass
[ýçÌ̂ Ç» Y»ç Egõç$Jôê_ åYçc÷» Yç» éc÷ Gã_*
%çã_ç [ýçÌ̂ Ç åUãEõ Egõçä»Jô YÒ[ýç×c÷Tö c÷Ì̂ *

b) Light passing from water to glass
YçXÝ» Y»ç Egõç$Jôê_ åYçc÷» Yç» éc÷ Gã_*
%çã_ç L_ åUãEõ Egõçä»Jô YÒ[ýç×c÷Tö c÷Ì̂

c) Light passing from glass to diamond
Egõç$Jô» Y»ç c÷Ý»çê_ åYçc÷» Yç» éc÷ Gã_
%çã_ç Egõç»Jô åUãEõ c÷ÝÌ[ýçãTö YÒ[ýç×c÷Tö c÷Ì̂

d) Light passing from water to air
YçXÝ» Y»ç [ýçÌ̂ Çê_ ãYçc÷» Yç» éc÷ Gã_*
%çã_ç L_ åUãEõ [ýçÌ̂ ÇãTö YÒ[ýç×c÷Tö c÷Ì̂ *

78. Sunlight takes 8 minutes 20 sec to reach earth. If the whole atmosphere is filled with water, the light
will take (aw= 4

3
) ...................  .

aÉ̂ ïî» åYçc÷» YÊ×U¾Ý YçCgãTö 8 ×]×XOô 20 æ$K÷ãEõ‰ø a]Ì̂  _çãG* ̂ ×V åGçäOô+ [ýçÌ̂ Ç]‰ø_ YçXÝã» Y×»YÉSï c÷Ì̂ , åTöãÜ™ö åYçc÷» »×`½ YÊ×U¾Ý YçCgãTö a]Ì̂
_ç×G[ý  ............... (aw= 4

3
)

aÉã ï̂îÌ[ý %çã_ç YÊ×U[ýÝãTö åYì»K÷ç+ãTö 8 ×]×XOô 20 åaãEõ³Qö _çãG* ̂ ×V a¶YÉXï [ýçÌ^Ç]³Qö_ Lã_ Y×Ì[ýYÉXï c÷Ì̂ , Töã[ý %çã_çEõ Ì[ý×`½ YÊ×U[ýÝ åYì»K÷ç+ãTö ...........
 _çãG*(aw= 4

3
)

a) 6 min b) 11 min 6 sec     c)  8 min 10 sec d) 8 min
6 ×]×XOô 11 ×]×XOô 6 æ$K÷ãEõ‰ø/åaãEõ³Qö   8 ×]×XOô 10 æ$K÷ãEõ‰ø/ åaãEõ³Qö 8 ×]×XOô

79. What will be the equivalent resistance between points P  and Q in the network shown here ?
×$JôyTö åVFÇC¾ç a¯LçäOôç» P %ç»Ó Q ×[ý³VÇ» ]çL» a]TÇö_î å»çWý ×Eõ]çX ?
×»Jôäy åVFçãXç a¯Lç×OôãTö P A[ýe Q ×[ý³VÇÌ[ý  ]ãWýî a]TÇö_î åÌ[ýçWý EõTö ?

P

Q

4 4 444444

233

a) 4  b) 6  c) 24  d) 32 
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80. Two bulbs of wattage 40w and 100w are connected in series to a 200 v line. Then .............

40 ¾çOô %ç»Ó 100 ¾çOô» VÇOôç [ýç_Ÿ æ`ÒSÝ[ýˆù \öçã¾ AOôç 200 \ö·Oô ×[ý\ö¾ å\öV» Töç»_ _GTö aeã^çG Eõ×»ã_ ...............
40 CÌ̂ çOô A[ýe 100 CÌ̂ çäOôÌ[ý VÇ×Oô [ýç_Ÿ æ`ÒSÝ[ýˆù\öçã[ý AEõ×Oô 200 \ö·Oô ×[ý\ö[ý å\öãVÌ[ý TöçãÌ[ýÌ[ý açãU aeã^çG Eõ×Ì[ýã_ ...........

a) The potential drop across both the bulbs is 200 v
=\öÌ̂  [ýç_Ÿ» ålùyTö ×[ý\ö¾ å\öV 200 \ö·Oô c÷[ý
=\öÌ̂  [ýçã_ŸÌ[ý ålùäy ×[ý\ö[ý å\öV 200 \ö·Oô c÷+ã[ý*

b) The potential drop across both the bulbs is same but not 200 v
=\öÌ̂  [ýç_Ÿ» ålùyTö ×[ý\ö¾ å\öV a]çX ×Eõ³wø 200 \ö·Oô Xc÷Ì̂
=\öÌ̂  [ýçã_ŸÌ[ý ålùäy ×[ý\ö[ý å[ýV a]çX ×EõÜ™Çö 200 \ö·Oô XÌ̂ *

c) The potential drop across 100 watt bulb is more
100 ¾çOô [ýç_Ÿ» ålùyTö ×[ý\ö¾ å\öV å[ý×$K÷ c÷[ý
100 CÌ̂ çOô [ýçã_ŸÌ[ý ålùäy ×[ý\ö[ý å\öV å[ý`Ý c÷+ã[ý*

d) The potential drop across 40 watt bulb is more
40 ¾çOô [ýç_Ÿ» ålùyTö ×[ý\ö¾ å\öV å[ý×$K÷ c÷[ý
40 CÌ̂ çOô [ýçã_ŸÌ[ý ålùäy ×[ý\ö[ý å\öV å[ý`Ý c÷+ã[ý*

81. The mains power supply of a house is through a 2 A fuse. How many 50 w bulbs can be used in this house at the
normal voltage ?

AFX H»» ]É_ ×[ýVÇîd ̀ ×Nþ AOôç 2 A×¶YÌ̂ ç» ×Zõ=L» ]çãL×V å^çGçX Wý×»ã_ H» FXTö 50 ¾çOô» ×Eõ]çXOôç [ýç_Ÿ açWýç»S ×[ý\ö¾Tö [ýî¾c÷ç» Eõ×»[ý
Yç×»[ý ?

AEõ×Oô HãÌ[ýÌ[ý ]É_ ×[ýVÇîd`×Nþ AEõ×Oô 2 A×¶YÌ̂ çÌ[ý ×Zõ=ãLÌ[ý ]Wýî×VÌ̂ ç YÒ[ýç×c÷Tö c÷+ã_ HÌ[ý×OôãTö 50 CÌ^çäOôÌ[ý EõTö×Oô [ýç_Ÿ açWýçÌ[ýS ×[ý\öã[ý [ýî[ýc÷çÌ[ý Eõ×Ì[ýãTö Yç×Ì[ý ?

a) 5 b) 6 c) 7 d) 8

82. To produce biogas in a biogas plant, we need ..........
éL¾ åG$K÷» Eõç»FçXçTö, éL¾ åG$K÷ YÒØ™ÇöTö  Eõã»çãTö %ç×] [ýî¾c÷ç» Eõã»ç ...................*
éL[ý GîçãaÌ[ý EõçÌ[ýFçXçÌ̂  éL[ý Gîça YÒØ™ÇöTö Eõ×Ì[ýãTö %ç]Ì[ýç [ýî[ýc÷çÌ[ý Eõ×Ì[ý ..............*

a) Oxygen but not water b) Water but not Oxygen   c) Oxygen and Water d) Neither oxygen nor water
%×jãLX ×EõÜ™Çö YçXÝ Xc÷Ì̂ YçXÝ ×Eõ³wø %×jãLX Xc÷Ì̂ %×jãLX %ç»Ó YçXÝ %×jãLXC Xc÷Ì̂  YçXÝC Xc÷Ì̂
%×jãLX ×EõÜ™Çö L_ XÌ̂ L_ ×EõÜ™Çö %×jãLX XÌ̂ %×jãLX A[ýe L_ %×jãLXC XÌ̂  L_C XÌ̂

83. Which of the following is not correct ?
Tö_» åEõçXäOôç £ˆù Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô £ˆù XÌ^ ?

a) 1 Volt x 1 Watt = 1 HP b) 1 Volt x 1 Coulomb = 1 Joul
1 \ö·Oô x 1 ¾çOô (CÌ̂ çOô) = 1 %`Ÿ lù]Töç 1 \ö·Oô x 1 EÇõ_¶‘ö = 1 LÇ_

c) 1 Volt x 1 amp = 1 J d) Watt - hour can be expressed in eV
1 \ö·Oô x 1 A×¶YÌ̂ ç» (A×¶YÌ̂ çÌ[ý) = 1 LÇ_ ¾çOô -- H³Oôç +ã_kỗX \ö·OôTö YÒEõç` Eõ×»[ý Yç×»*

CÌ̂ çOô - H³Oôç +ã_Eõ®ÏôX \öä·Oô YÒEõç` Eõ×Ì[ýãTö Yç×Ì[ý*
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84. Which of the following metal can prevent the corrosion of tin ?

Tö_» åEõçXäOôç WýçTÇöã¾ ×OôX» lùÌ̂  å»çWý Eõ×»[ý Yçã» ?
XÝä»JôÌ[ý åEõçX×Oô WýçTÇö ×OôãXÌ[ý lùÌ̂  åÌ[ýçWý Eõ×Ì[ýãTö YçãÌ[ý ?

a) Zn b) Cu c) Pb d) Ag

85. Pb (NO3)2  2 PbO+nA+O2

What is nA in the given reaction ?
CY»» ×[ý×yÔÌ̂ çäOôçTö nA + ×Eõ [ýÇLç+ --
=YãÌ[ýÌ[ý ×[ý×yÔÌ̂ çãTö nA ×Eõ [ýÇMõçÌ̂  ?

a) 4NO2 b) 2NO3 c) 2PbNO2 d) NO2

86. The compound formed during electrolysis of brine is  ...........
[ýÐç+X» ×[ýVÇîd ×[ýä`ÀbSTö ............... å^ìG GPöX c÷Ì̂ *
[ýÐç+ãXÌ[ý ×[ýVÇîd ×[ýä`ÀbãS ............. å^ìG GPöX c÷Ì̂ *

a) Cl2 b) H2 c) NaOH d) None of these
AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

87. N, P, As and Sb react with O2 to form N2O5, P4O10, As4O10 and Sb4O10 respectively. Of all these, the most acidic oxide
is ...........

N, P, As %ç»Ó Sb åÌ̂  O2 » _GTö ×[ý×yÔÌ̂ ç Eõ×» yÔã] N2O5, P4O10, As4O10 %ç»Ó  Sb4O10 %jç+Qö GPöX Eõã»* +Ì̂ ç» ×\öTö»Tö %çOôç+TöêEõ
å[ý×$K÷ %ç×¶ÚöEõ %jç+QöäOôç ...............*

N, P, As A[ýe Sb åÌ^ O2 AÌ[ý açãU ×[ý×yÔÌ̂ ç Eõ×Ì[ýÌ̂ ç yÔã] N2O5, P4O10, As4O10 A[ýe Sb4O10  %jç+Qö GPöX EõãÌ[ý* +c÷çãVÌ[ý ]ãWýî a[ý»Jôç+ãTö å[ý`Ý
%ç×¶ÚöEõ %jç+Qö×Oô c÷+_ .........

a) N2O5 b) P4O10 c) As4O10 d) Sb4O10

88. Rust is a mixture of .............
]ç]» ................... ×]`Ò*
]×Ì[ý»Jôç ...................... ×]`Ò*

a) FeO and Fe(OH)2 b) FeO and Fe(OH)3 c) Fe2O3 and Fe(OH)3 d) Fe3O4 and Fe (OH)3

FeO %ç»Ó / A[ýe Fe(OH)2 FeO %ç»Ó / A[ýe Fe(OH)3 Fe2O3 %ç»Ó/A[ýe Fe(OH)3 Fe3O4 %ç»Ó/A[ýe Fe (OH)3

89. Which of the following is obtained when methanol vapours mixed with a small amount of air  are passed over copper
catalyst at high temperature ?
×]UçX_» [ýç¹Y Eõ] Y×»]çS» [ýçÌ̂ Ç» _GTö ×]c÷×_ Eõ×» =¬Jô =bÕTöçTö Töç]» %XÇHOôEõ» =Y×Øšö×TöTö ̂ ç[ýê_ ×Vã_ Tö_» åEõçXäOôç å^ìG =dY~ c÷'[ý .......
×]UçXã_Ì[ý [ýç¹Y Eõ] Y×Ì[ý]çS [ýçÌ̂ ÇÌ[ý a×c÷Tö ×]`ç+Ì̂ ç =¬Jô =bÕTöçÌ̂  Töç]çÌ[ý %XÇHOôãEõÌ[ý =Y×Øšö×TöãTö å^ãTö ×Vã_ XÝä»JôÌ[ý åEõçX×Oô å^ìG =dY~ c÷+ã[ý ......

a) Methanol b) Methanoic acid c) Methane d) Ethanol
×]UçX_ ×]UçX×Ì̂ Eõ A×$K÷Qö / A×aQö ×]ãUX +UçX_
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90. The ores of an element 'X' generally  found on earth crust and its oxide give strong alkalies. Then 'X' belongs to ........
X AOôç å]ì_ ̂ ç» %çEõ» açWýç»SãTö \Éö-YÊœöTö åYç¾ç ^çÌ̂  %ç»Ó +Ì̂ ç» %jç+ãQö GçRÍô lùç» =dY~ Eõã»* åTöãÜ™ö X å]ì_äOôç ............. %Ü™ö\ÉöÛNþ*
X AEõ×Oô å]ì_ ̂ çc÷çÌ[ý %çEõÌ[ý açWýçÌ[ýSTö \Éö-YÊärô YçCÌ̂ ç ̂ çÌ̂  A[ýe +c÷çÌ[ý %jç+ãQö GçQÍö lùçÌ[ý =dY~ EõãÌ[ý* Töçc÷ã_ X å]ì_×Oô ................ %Ü™Çö\ÇöÛNþ

a) I group b) II group c) III group d) IV group
YÒU] [ýGï ×¥TöÝÌ^ [ýGï TÊöTöÝÌ̂  [ýGï $JôTÇöUï [ýGï

91. The general formula of carboxylic acids is ............
Eõç[ýï%×j×_Eõ A×$K÷Qö» açWýç»S aeãEõTöäOôç éc÷ä$K÷ ...............
Eõç[ýï%×j×_Eõ A×aãQöÌ[ý açWýçÌ[ýS aeãEõTö×Oô c÷+ã_ ..........

a) CnH2n+1OH b) CnH2nO c) CnH2nO2 d) Cn H2n+2

92. Bile contains ............
×Ywø »aTö ............. %çä$K÷*
×Ywø Ì[ýãa ................... %çä»K÷*

a) Protein digesting enzymes b) Carbohydrate digesting enzymes
YÒ×OôX Yç$JôXEõç»Ý =dåa$JôEõ Eõç[ýïc÷ç+äQÎöOô Yç$JôXEõç»Ý =dåa$JôEõ
YÒ×OôX Yç»JôXEõçÌ[ýÝ =dåa»JôEõ Eõç[ýïc÷ç+äQÎöOô Yç»JôXEõçÌ[ýÝ =dåa»JôEõ

c) Fat splitting enzymes d) All of these
$Jô×[ýï ×[ý\öçLXEõç»Ý =dåa$JôEõ %çOôç+ ãEõ+Oôç*
»Jô×[ýï ×[ý\öçLXEõçÌ[ýÝ =dåa»JôEõ a[ý EõÌ^×Oô

93. O2 evolved in photo synthesis is ..............
açã_çEõ aeä`ÀbSTö .............. O2 =dY~ c÷Ì̂ *
açã_çEõ aeä`ÀbãS ............ O2 =dY~ c÷Ì̂ *

a) from water b) from CO2 c) from H2O and CO2 d) from air
YçXÝ» Y»ç CO2 » Y»ç YçXÝ %ç»Ó CO2 » Y»ç [ýçÌ̂ Ç» Y»ç
L_ c÷+ãTö CO2 c÷+ãTö L_ A[ýe CO2 c÷+ãTö [ýçÌ̂ Ç c÷+ãTö

94. The chief function of lymph nodes in mammalian body is to .............
Ø™öXîYçÌ̂ Ý YÒçSÝ» _×aEõç TöÜ—ö» ]ÉFî Eõç]äOôç ..............
Ø™öXîYçÌ̂ Ý YÒçSÝÌ[ý _×aEõç TöãÜ—öÌ[ý ]ÇFî EõçL×Oô c÷+_ ..................*

a) destroy the old red blood cells. b) Produce WBCs
YÇ»×S å_ç×c÷Tö »Nþ Eõ×SEõçã[ýç»Eõ W[ýea Eõ»ç å`ŸTö »Nþ Eõ×SEõç =dY~ Eõ»ç
YÇÌ[ýçãSç å_ç×c÷Tö Ì[ýNþ Eõ×XEõçm×_ãEõ W[ýea EõÌ[ýç å`ŸTö Ì[ýNþEõ×XEõç =dY~ EõÌ[ýç

c) Collect and destroy pathogens. d) Produce a hormone.
[ýÝLçSÇ aeGÐc÷ %ç»Ó W[ýea Eõ»ç c÷»]'X =dY~ Eõ»ç
[ýÝLçSÇ aeGÐc÷ A[ýe W[ýea EõÌ[ýç c÷Ì[ý]S =dY~ EõÌ[ýç
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95. Which of the following is not a ductless gland ?

Tö_» åEõçX×[ýWý X_Ý×[ýc÷ÝX GÐ×Üšö Xc÷Ì̂  ................
XÝä»JôÌ[ý åEõçX×Oô X_Ý×[ýc÷ÝX GÐ×Üšö XÌ̂

a) Adrenal b) Thyroid c) Pituitary d) Liver
A×QÎöãX_ Uç+»+Qö ×YOÇô+Oôç»Ý ^EÊõTö
%×VÐãS_ Uç+Ì[ýãÌ̂ Qö ×YOÇô+OôçÌ[ýÝ ^EÊõTö

96. Which of the following protects the brain from shocks ?
Tö_» åEõçXäOôçã¾ ]×Ø™ö›õEõ %çHçTö» Y»ç »lùç Eõã» ?
XÝä»JôÌ[ý åEõçX×Oô ]×Ø™ö›õãEõ %çHçTö c÷+ãTö [ýgç»JôçÌ̂  ?

a) Cranium b) Cerebrospinal fluid
åyÔ×XÌ^ç] ä$Jô×»[ýÐ'&ç+Xç_ »a/ ä$Jô×Ì[ý[ýÐ'&ç+Xç_ Ì[ýa

c) Duramater d) Arachnoid  membrane
QÇö»'å]Töç»/ QÇöÌ[ý'å]OôçÌ[ý %çEïõçX+Qö %ç¾»S/ %çEïõçX+Qö %ç[ýÌ[ýS

97. Which of the following are non-essential parts of flowers ?
Tö_» åEõçXäOôç %e` ZÇõ_» [ýçã[ý %Töîç¾`îEõÝÌ̂  Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô %e` ZÇõã_Ì[ý LXî %Töîç[ý`îEõÝÌ^ XÌ^ ?

a) Calyx and gynoecium b) Calyx and Corolla
[ýÊ×wø %ç»Ó G\öÛV‰ø [ýÊ×wø %ç»Ó Yç×c÷
[ýÊ×wø A[ýe G\öÛV‰ø [ýÊ×wø A[ýe YçY×QÍö

c) Corolla and androecium d) Androecium and gynoecium
Yç×c÷ %ç»Ó YÇeV‰ø YÇeV‰ø %ç»Ó G\öÛV‰ø
YçY×QÍö A[ýe YÇeV‰ø YÇeV‰ø A[ýe G\öÛV‰ø

98. Darwin felt that individual variations within a population arose -
Qöç»=+X» ]ãTö YÒLç×Tö» [ýî×Nþ a]×rô» ]çLTö YÒEõ»S .................... c÷Ì̂ *
QöçÌ[ý=+ãXÌ[ý ]ãTö YÒLç×TöÌ[ý [ýî×Nþ a]×rôÌ[ý YÒEõÌ[ýS ................. c÷Ì̂ *

a) By design b) Spontaneously c) As a result of need d) At a predictable rate
GPöX» ¥ç»ç Ø‘öTöf Øö�ÉõTöÛ\öçã[ý YÒãÌ^çLX açãYãlù %XÇ]ç×XEõ c÷ç»Tö
GPöãXÌ[ý ¥çÌ[ýç Ø‘öTöf Øö�ÉõTöÛ\öçã[ý YÒãÌ^çLX açãYãlù %XÇ]ç×XEõ c÷çãÌ[ý

99. Ozone layer is destroyed due to ...........
%'LX Ø™ö»» %¾lùÌ̂ » Eõç»S ..................
%'LX Ø™öÌ[ýÌ[ý %[ýlùãÌ̂ Ì[ý EõçÌ[ýS ...................

a) CFC b) CO2 c) SO2 d) NH3
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(20)

100.In which of the following organ haemoglobin is broken down into bilirubin and biliverdin ?
Tö_» åEõçXäOôç %eGTö ×c÷]'GÀ×[ýX, ×[ý_»Ó×[ýX %ç»Ó ×[ý×_[ýç»×QöXê_ »ÖYçÜ™ö» c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô %ã† ×c÷]'GÀ×[ýX, ×[ý_Ì[ýÓ×[ýX A[ýe ×[ý×_[ýçÌ[ý×QöãX Ì[ýÖYçÜ™öÌ[ý c÷Ì^ ?

a) Intestine b) Lung c) Liver d) Spleen
lÇùVÐçÜ—ö c÷çCg-ZõçCg/ ZÇõaZÇõa ^EÊõd %GÂç Ì̀̂

XXX THE END XXX
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